

International Fee Schedule 2025

Accounting, Finance and Business

Course Name	Course Code	Intake	Course Duration	Campus	Tuition Fee per year (\$AUD)	Total Course Fee (\$AUD)	Entry Requirements
Master of Professional and Practicing Accounting	HEBSMPPA	Feb, Jul	2 years	PR	\$24,000	\$48,000	 Australian bachelor's degree or overseas equivalent IELTS 6.5/6.0
Bachelor of Accounting	HEBSBACC	Feb, Jul, Nov	3 years	PR	\$20,800	\$62,400	Australian Year 12 equivalencyIELTS 6.0/5.5
Bachelor of Business	HEBSBBS	Feb, Jul, Nov	3 years	PR	\$20,800	\$62,400	Australian Year 12 equivalency,IELTS 6.0/5.5
Diploma of Accounting	FNS50222	Feb, Jul	6 months	cw	-	\$8,200 [†]	 Completion of four prerequisite core units from Certificate IV in Accounting and Bookkeeping Australian Year 12 equivalency IELTS 6.0
Certificate IV in Accounting and Bookkeeping	FNS40222	Feb, Jul	6 months	cw	-	\$8,200†	Australian Year 12 equivalencyIELTS 6.0

†Additional Fees

Diploma of Accounting HEBSBACC material fee \$359

Certificate IV in Accounting and Bookkeeping FNS40222 non-tuition fee \$360









Agriculture and Conservation

Course Name	Course Code	Intake	Course Duration	Campus	Tuition Fee per year (\$AUD)	Total Course Fee (\$AUD)	Entry Requirements
Bachelor of Agriculture and Technology	HEPIBAT	Feb, Jul	3 years	ΕP	\$28,480	\$85,440	 Australian Year 12 equivalency IELTS 6.0/5.5 Written statement 300-500 words.
Diploma of Agriculture	AHC50122	Feb, Jul	1 year	ED	\$16,400	\$16,400	Certificate IV in AgricultureIELTS 6.0
Certificate IV in Agriculture	AHC40122	Feb, Jul	1 year	ED	\$16,400	\$16,400	Australian Year 12equivalencyIELTS 6.0
Diploma of Conservation and Ecosystem Management	AHC51120	Feb, Jul	1.5 years	ED, EP	\$17,200	\$25,800	Australian Year 12equivalencyIELTS 6.0



Applied Architecture and Building Services

Course Name	Course Code	Intake	Course Duration	Campus	Tuition Fee per year (\$AUD)	Total Course Fee (\$AUD)	Entry Requirements
Bachelor of Applied Architecture	НЕВАА	Feb	3 years	EP	\$22,640	\$67,920	Australian Year 12equivalencyIELTS 6.5/6.0Interview
Advanced Diploma of Building Design (Architectural)	22627VIC	Feb, Jul	2 years	PR	\$17,200	\$34,400	Australian Year 12equivalencyIELTS 6.0
Diploma of Interior Design	MSF50222	Feb	1 year	PR	\$18,720	\$18,720	 Certificate IV in Interior Decoration Australian Year 12 equivalency IELTS 6.0
Certificate IV in Interior Decoration	MSF40122	Feb, Jul	1 year	PR	\$18,720	\$18,720	Australian Year 12equivalencyIELTS 6.0
Diploma of Building and Construction (Building)	CPC50220	Feb	1 year	PR	\$19,600	\$19,600	Australian Year 12equivalencyIELTS 6.0



Images Christian Di Fazio - Bachelor of Applied Architecture

Creative and Performing Arts

Course Name	Course Code	Intake	Course Duration	Campus	Tuition Fee per year (\$AUD)	Total Course Fee (\$AUD)	Entry Requirements
Bachelor of Songwriting and Music Production	HECABSMP	Feb, Jul	3 years	FF, CW	\$24,000	\$72,000	 Australian Year 12 equivalency IELTS 6.0/5.5 Interview and audition
Bachelor of Illustration	HEVAILL	Feb	3 years	Œ	\$24,000	\$72,000	 Australian Year 12 equivalency IELTS 6.0/5.5 Interview and folio
Advanced Diploma of Music (Performance)	CUA60520	Feb, Jul	1 year	EE	\$19,600	\$19,600	 Australian Year 12 equivalency IELTS 6.0 Interview and audition
Diploma of Music	CUA50820	Feb, Jul	1 year	FF	\$19,600	\$19,600	Australian Year 12 equivalencyIELTS 6.0Interview and audition



Bachelor of Illustration

Higher Education	CAMPUS KEY			
Vocational Education and Training (VET)	CW Collingwood HB Heidelberg	ED Eden Park PN Prahran	EP Epping PR Preston	FF Fairfield

Course Name	Course Code	Intake	Course Duration	Campus	Tuition Fee per year (\$AUD)	Total Course Fee (\$AUD)	Entry Requirements
Advanced Diploma of Music (Sound Production)	CUA60520	Feb, Jul	1 year	ĒĒ.	\$19,600	\$19,600	 Australian Year 12 equivalency IELTS 6.0 Interview and Audition
Certificate IV in Music (Sound Production)	CUA40920	Feb, Jul	6 months	FF	-	\$9,800	 Australian Year 12 equivalency, IELTS 6.0 Interview and Audition
Diploma of Theatre Arts	22598VIC	Feb	1 year	PN	\$22,800	\$22,800	Australian Year 12 equivalencyIELTS 6.0Interview
Diploma of Live Production and Technical Services (Live Production Management)	CUA50420	Feb	1 year	PN	\$22,800	\$22,800	Australian Year 12 equivalencyIELTS 6.0Interview
Diploma of Live Production and Technical Services (Costume)	CUA50420	Feb	1 year	PN	\$22,800	\$22,800	Australian Year 12 equivalencyIELTS 6.0Interview
Advanced Diploma of Screen and Media	CUA60620	Feb	1 year	ĒĒ.	\$19,600	\$19,600	Certificate IVin Screen and MediaIELTS 6.0Interview
Certificate IV in Screen and Media	CUA41220	Feb	1 year	ĒĒ.	\$19,600	\$19,600	Australian Year 12equivalencyIELTS 6.0Interview



Sound Production

Higher Education	CAMPUS KEY				
Vocational Education and Training (VET)	CW Collingwood HB Heidelberg	ED Eden Park PN Prahran	EP Epping PR Preston	FF Fairfield	

Course Name	Course Code	Intake	Course Duration	Campus	Tuition Fee per year (\$AUD)	Total Course Fee (\$AUD)	Entry Requirements
Diploma of Screen and Media (Specialist Make-Up Services)	CUA51020	Feb	1 year	PN	\$22,800	\$22,800	 Australian Year 12 equivalency IELTS 6.0 Interview and Folio
Advanced Diploma of Creative Product Development	CUA60420	Feb	1 year	PR	\$19,600	\$19,600	 Diploma of Visual Arts/Diploma of Graphic Design Australian Year 12 equivalency IELTS 6.0 Interview and Folio
Diploma of Visual Arts	CUA51120	Feb	1 year	PR	\$19,600 [†]	\$19,600 [†]	 Australian Year 12 equivalency IELTS 6.0 Interview and Folio
Certificate IV in Visual Arts	CUA41320	Feb	1 year	PR	\$19,600 [†]	\$19,600†	 Australian Year 12 equivalency IELTS 6.0 Interview and Folio
Diploma of Graphic Design	CUA50720	Feb	1 year	FF	\$19,600	\$19,600	 Australian Year 12 equivalency IELTS 6.0 Interview and Folio
Advanced Diploma of Jewellery and Object Design	MEM60222	Feb	2 years	FF	\$19,600 [†]	\$39,200 [†]	 Australian Year 12 equivalency IELTS 6.0 Interview and Folio

†Additional Fees

Diploma of Visual Arts CUA51120 (Illustration) non-tuition fee \$113

Diploma of Visual Arts CUA51120 (Painting Printmaking) non-tuition fee \$443

Certificate IV in Visual Arts CUA41320 non-tuition fee \$460

Advanced Diploma of Jewellery and Object Design MEM60222 non-tuition fee \$1000-2000 toolkit











Education and Community Services

Course Name	Course Code	Intake	Course Duration	Campus	Tuition Fee per year (\$AUD)	Total Course Fee (\$AUD)	Entry Requirements
Bachelor of Education (Early Years and Primary)	HEBOEEYP	Feb, Jul	4 years	PR	\$22,640	\$90,560	 Australian Year 12 equivalency (including studies equivalent to VCE Units 1 and 2 Mathematics) IELTS 7.0/7.0 Interview
Bachelor of Early Childhood Education	HEBOECE	Feb, Jul	3 years	PR	\$22,640	\$67,920	Australian Year 12equivalencyIELTS 6.5/6.5Interview
Associate Degree of Early Years Studies	HEFEADEYS	Feb, Jul	2 years	PR	\$22,640	\$45,280	 Australian Year 12 equivalency IELTS 6.5/6.5 Interview
Diploma of Early Childhood Education and Care	CHC50121	Apr, Oct	15 months	PR	\$17,200	\$21,500	 Certificate III in Early Childhood Education and Care IELTS 6.0 Written statement 300-500 words
Certificate III in Early Childhood Education and Care	CHC30121	Feb, Jul	9 months	PR	-	\$12,900	 Australian Year 12 equivalency IELTS 6.0 Interview Written statement 300-500 words
Certificate III in School Based Education Support	CHC30221	Feb, Jul	6 months	PR	-	\$8,600	 Australian Year 12 equivalency IELTS 6.0 Written statement 300-500 words
Diploma of Community Services	CHC52021	Feb, Jul	2 years	PR	\$24,000	\$48,000	 Australian Year 12 equivalency IELTS 6.0 Interview Supplementary Information Form
Diploma of Auslan	PSP51018	Feb, Jul	2 years	cw	\$20,800	\$41,600	Australian Year 12 equivalencyIELTS 6.0Interview
Certificate III in Hairdressing	SHB30416	Feb, Jul	1 year	PR	\$19,600†	\$19,600†	Australian Year 12equivalencyIELTS 6.0

†Additional Fees

Certificate III in Hairdressing SHB30416 non-tuition fee \$340 license fee + \$900 toolkit

Engineering

Course Name	Course Code	Intake	Course Duration	Campus	Tuition Fee per year (\$AUD)	Total Course Fee (\$AUD)	Entry Requirements
Bachelor of Engineering Technology (Civil)	HEBETC	Feb, Jul, Nov	4 years	EP	\$24,000	\$96,000	 Australian Year 12 equivalency, (including studies equivalent to VCE Units 3 and 4 Mathematic Methods) IELTS 6.0/5.5
Diploma of Engineering Technology (Civil Engineering)	22478VIC	Feb	1 year	PR	\$17,200	\$17,200	Australian Year 12equivalencyIELTS 6.0
Diploma of Engineering Technology (Mechatronic Engineering)	22478VIC	Feb	1 year	PR	\$17,200†	\$17,200†	Australian Year 12equivalencyIELTS 6.0

†Additional Fees

Diploma of Engineering Technology (Mechatronic Engineering) 22478VIC material fee \$300

FF Fairfield

Hospitality

Course Name	Course Code	Intake	Course Duration	Campus	Tuition Fee per year (\$AUD)	Total Course Fee (\$AUD)	Entry Requirements
Bachelor of Hospitality Management	НЕТНТНМ	Feb, Jul, Nov	3 years	PR	\$20,800	\$62,400	Australian Year 12equivalencyIELTS 6.0/5.5
Diploma of Hospitality Management	SIT50422	Feb, Jul	6 months	PR	-	\$9,200	 Certificate IV in Hospitality/ Certificate IV in Kitchen Management Australian Year 12 equivalency IELTS 6.0
Certificate IV in Kitchen Management	SIT40521	Feb, Jul	6 months	PR	-	\$9,200†	 Certificate III in Commercial Cookery Australian Year 12 equivalency IELTS 6.0
Certificate III in Commercial Cookery	SIT30821	Feb, Jul	1 year	PR	\$18,400†	\$18,400†	Australian Year 12 equivalencyIELTS 6.0
Certificate IV in Hospitality	SIT40422	Feb, Jul	1 year	PR	\$18,400†	\$18,400†	Australian Year 12 equivalencyIELTS 6.0

†Additional Fees

Certificate IV in Kitchen Management material fee \$150

Certificate IV in Hospitality material fee \$150

Certificate III in Commercial Cookery material fee \$650







Information Technology

Course Name	Course Code	Intake	Course Duration	Campus	Tuition Fee per year (\$AUD)	Total Course Fee (\$AUD)	Entry Requirements
Bachelor of Information Technology	HEBSIT	Feb, Jul, Nov	3 years	PR	\$24,000	\$72,000	Australian Year 12equivalencyIELTS 6.0/5.5
Diploma of Information Technology	ICT50220	Feb, Jul	1 year	PR	\$17,200	\$17,200	Australian Year 12 equivalencyIELTS 6.0

Entry Requirements

Academic:

Australian Year 12 or equivalency.

English:

IELTS 7.0\7.0 = Academic IELTS 7.0 overall with no individual band below 7.0, or equivalency.

IELTS 6.5\6.5 = Academic IELTS 6.5 overall with no individual band below 6.5, or equivalency.

IELTS 6.5\6.0 = Academic IELTS 6.5 overall with no individual band below 6.0, or equivalency.

IELTS 6.0\5.5 = Academic IELTS 6.0 overall with no individual band below 5.5, or equivalency.

IELTS 6.0 = Academic IELTS 6.0 overall or equivalency.

Fees

All fees outlined above are in Australian Dollars (AUD). Melbourne Polytechnic reserves the right to impose price changes at their discretion at any time. The information published in this document is accurate at the time of publication, and may be subject to change. Published November 2024. Visit www.melbournepolytechnic.edu.au for more information.







